Supplementary material.
Examples of generated exercises for Control-flow domain.
Target concepts:
o else-if;

e DO-WHILE loop;
e break.

1. An exercise of low (L) difficulty.

i ars evaluated. Activate actions
with playp and stcopl buttons
Pp lc—>type = LAYOUT WINDOWPANE:
pdc@ L £
{ .,

P cooviz);

P bind(4);
i |
while | | count (num)); - false
P wp-—>layout cell = lc;
P loc—wp = wp;

Problem L-1 (difficulty: 0.1643)

Press the actions of the algorithm in the order they are evaluated. Activate actions

p node = node->rb _right:

P 2xt2fs rb augment path(node, func):

Problem L-2 (difficulty: 0.3408)



Ppipl = (char*)buffi;

P ip2 = (char*)buff2;

P zize t pos:

pfor@ (P rpos=0: Pppos; Pposit) - true ffL 12
p
pifl (P ipl[pos]!=ip2[poz]) - true SSA 11
e
P break;

|
‘|
P return pos:

Problem L-3 (difficulty: 0.8024)

str.starcfi]l) — true A4 A5

P break:
]
'
Pp return i:

Problem L-4 (difficulty: 0.7794)

P conn = data;
P conf (0);
pif B (P imapcod
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P struct imap conn *imapc =;

P imapc->preauth = TRUE;

P infof (data, "P.ed"):

else if | p imapcode != IMAP RESE OE) - true
ip
P f2ilf(data, "G ze");

Problem L-5 (difficulty: 0.3566)



P struct wdr *cs = c—> apdd;
P struct control block *cb, *cbl:
pfor ] (Ppcopvi2):; P tmp(num); P len(stmp)) — true
o

pif @ (P ch->size !'= Q) - true ff A 10

e

P break:
|

P log_debug("%. %s", func :

p bufferevent write (cs-rWrite ewvent):

p control free block(cs, cb):

'm
Problem L-6 (difficulty: 0.6410)

p while @ (P bind(stmp)) — true, rfalse /7 L
e

Ppf->in->failed = true;

i
o

pif@ (P f->in-rerror handler| - true

e

P 2dd pending({f->in-rerror handler);

P break;

Problem L-7 (difficulty: 0.7178)



P RutoincInfo *p;

Pp Vdbe *v = pParse—>pVdbe;

P copy(ptr);
pfcr @

e

{ o o= pParse—>pAinc; [ service(5); [ p = p—>pHext)

p static const int iln = conf(2):

Pp 2utoIncEnd[l] = stmp;

P solitedVdbeAddOp3 (v, OP Lej:

Pp sglite3d0penTable (pParse, 0, p->iDb);

—

P 20p = sglitedVdbeRddOplist (v, ptr):

pif @ (P 20p==0) - true A4 Az

e

Ly

P break:

|l1'
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|ru

with playp

yYvy
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pl0].pl = memTd+l;

pll].p2 = memId+l;

liteldBeleaseTempReg (pParse, iBec):

Problem L-8 (difficulty: 0.7305)

Ppint i;

pfcrl] (pi=20; Ppi<str.len; Pp ittt} — tzue AL

L

pif ) (P strchr(reject, str.start[i]}) — true

e

Pp break:

Pp return i;

Problem L-9 (difficulty: 0.7794)
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P char *name = basename (prog);

pif (P !strcmp(name, "btrfadist")) - false

else if (e !Strcmpiname, "extd4dist")) - true

else if (P !Strcmp (name, "nfsdist"})

=

Cn

Problem L-10 (difficulty: 0.3408)

2. An exercise of medium (M) difficulty.

pif@ (P i->last seqg) — false S48
e
Pp return (-1} ;
|
else if (p !next segment (£f)) - trme
S
P return (-1):

]
P bind (dur) :

B ——f->bytes in seq:

P return getd (£);

Problem M-1 (difficulty: 0.5279)



it @ (P f£ile}) - true A 18
o
pdoB L7
g
P Curl cfree(ptr);
P coovi2):
|
while ( | count (num)); — false

file->path = NULL:
pif g (P £ile—>Ffd '= -1) - false
e

P close(file—>Fd);

Problem M-2 (difficulty: 0.5963)

while { bind({stmp)} — true, false
>
g

Pp f->rin->failed = true;

pifl (P i->in->error handler) — true
e
P 2dd pending{f->in->error handler);

P break:

Problem M-3 (difficulty: 0.7178)
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P ipl = (char*)buffil;
P ip2 = (char#*)buff3;

P =zize € pos;
pfor (P pos=0; Pppos: P postt) - true ff L 12
e

it (P ivlipos]'=ip2[po3]) - true A4 A 11

o

P break:

i |

|

P return pos;

Problem M-4 (difficulty: 0.8692)

pif (P !finfo} - true ffAS5
T
P return ;
'
pdc@® /L 10
e
P Curl cfree(ptr):
P copyi2);
'

while | jp count(n

umj ) ; - false

P Curl cfree(ptr);

Problem M-5 (difficulty: 0.6568)

P struct wdr *cs = c-> apdd:

P struct control block *cb, *cbl;

pifocr ] (PpcooviZ):; Ppcoo(num); e len(stmp)) — true £ L 1&
p
pif ) (Ppcb->size !'= 0) - true A4 A 10
e
Pp break;
]

P log debug ("% %s", func J:

P bufferevent write (cs->write event):

P control free blockics, cb):

Problem M-6 (difficulty: 0.7706)



P ZutoincInfo *p;

P Vdbe *v = pParse->pVdbe;

P copv (ptr) ;
Ppifocrl] (P = pParse->phinc; [ 3ervice(5): Pp o = p—>pNext)
e

p static const int iln = conf(2);

Pp 2utoIncEnd[l] = 3stmp;

Pp sglitedVdbelddOpd (v, 0P Le);

P sglite3d0penTable (pParse, 0, p->iDbj:

— I

P 2a0p = sglitedVdbedddOplist (w, ptr];

pif @ (P 20p==0) - true P

e
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memId+l;

afpll].p2 = memId+l;

P sglitelBeleaseTempReg(pParse, iBRec);

Problem M-7 (difficulty: 0.7305)

P struct wdr *cs = c-> apid;

P struct control block *cb, *cbl:
pifcrl] (PpcopviZ): Pprtop(num); [ len(stmp)) — trume, false
e
pif R (P ch->size != 0) - true A A 10
i
P break:
‘.

P log debug("%.%s", func }:

Pp bufferevent write({cs->write event);

P control free block{cs, cb);

Problem M-8 (difficulty: 0.7706)

- Lrue



Press the actions of the algorithm in the order they are evaluated. Actiwvate actions
with playp and stopl buttons

p
P break:
o
'
Pp return i;

Problem M-9 (difficulty: 0.9310)

Press the actions of the algorithm in the order they are evaluated. Activate actions
with playp and stop @ buttons

it (Ppstmp(2)) - false S A E
S
Pp unicfailid;
|
'

while ( J» countinum)): - false

P freccount+4;

P £reeip):
Problem M-10 (difficulty: 0.5747)



3. An exercise of high (H) difficulty.

Press the actions of the algorithm in the order they are ewvaluated. Actiwvate actions

with play p =and stocp @ buttons.

[

pift Q@ (Pp'!'s |[|_'ny - fa
S
Pp return ({woid *)0};
'
p uchar © *ptr = 5 + n;
pdo@ // L 14
i p
pif (P *—_ptr == ch) — false, false
ip
Pp return ptr;
i ]
‘.

while (s !'= ptr); — true,

se SRR

He
[
Ba

4
fu
=
i
o

P retorn {{void #*)0);

Problem H-1 (difficulty: 0.8557)

Fress the actions of the algorithm in the order they are ewvaluated. Activate actions

Wwith plavp and stcp @ buttons.

'fOI‘ { i=0; i< str.len; i++) — true, true, false L 10
2=
.' if { !strchr (accept, sStr.start[i])) — false, Ltrue F4 A8
- .

.
Pp break:
‘.
‘|
P retorn i;

Problem H-2 (difficulty: 0.9310)



ress the acticons of the algorithm in the order

with play p and stop @ buttons.

Pp int attached;
pif@ (P chan == NULL) —
{ .,
P return (1):
'm
pif @ (P £lzgs & CMD FIND PREFER UNATTACHED) - true

e

true FAA 8

{than->attached !'= 0};

pif@ (P zttached && s—>attached == 0) — false
il -
Pp retorn (1) :
.
else if (P !attached && s—->»attached !'= 0) - trume

|
p retorn (0);
N |
'm

they are

evaluated.

Pp retorn (timercmp (&s->ectiwvwity time, &than->actiwvity time, >));

Problem H-3 (difficulty: 0.6779)



Fress the actions of the algorithm in the order they are evaluated.

pif @ (Ppdata->state.use range) — true SSA 28
{ .,
pif@ (pcmo(2)) - false Af A 22
i
P Curl cfree(ptr):
P datae(wvdr) ;
‘.
else if (P loc(3)) — true
iy

P Curl cfree(ptr);

pif@ (| data->set.set resume from < 0) - false 4 18
ip
P int temp & = 0;
|
else if | |p data->3tate.regume from) - false
ip
P int temp var 10 = O;
‘|
else
e
P int temp war 14 = 0;
|
i |
'm
Problem H-4 (difficulty: 0.7229)
Press the actions of the algorithm in the order they are evaluated.

with play p and stop i buttons.

Ppicl = (char*)buffl;

P icZ2 = (char*)buff2;

psize t pos;
pfor@ (Pppos=0; Pppos: Pppost+t) - time, false S L 12
e
pif (P icl[pcs]!=ip2[pcs]) — true fS A 11
il
P break;
iy ]
‘'m

p retorn pos;

Problem H-5 (difficulty: 0.8692)



Fress the actions of the algorithm in the order they are evaluated. LActivate actions

with play p and stop i buttons.

pif @ (P bindicopv)) — true fAA 6
p

Pp _service |

FRC (_count]) apid:

P return O;
'
> actual f3 type = F5Type;
pif g (Ppdburil)) — false ffA 23
[

Pp retorn FormatlargeFATSZ (Drivelndex, PartitionOffset, UnitAllocationSize,

FileSystemlabel [ESType], Label, Flags):

else if ( p ES e »>= F5 2) — false

Pp retorn FormatExcFs (DriveIndex, PartitionOffset, UnitAllocationSize,

FileSystemlabel [ESType], Label, Flags):
‘|
else if ( pp use wvds) — true
.

P retorn FormatNativeVds (Drivelndex, PartitionCffset, UnitallocationSize,

FileSystemlabel [ESType], Label, Flags):

‘.

else
.S

P return FormatNative (DriveIndex, PartiticonOffset, UnitAllocationSize

FileSystemlakbel [FSType], Lakbel, Flags):

‘.

Problem H-6 (difficulty: 0.7837)



Press the actions of the algorithm in the order they are
Wwith play i and stop @ buttons.
pif@ (P data->state.use range) — true FSOA 28
{ .,
pif@ (P cmpi2)) —~ false // A 22
‘e
P Curl cfree(ptr):
P data (vdr] ;
'm
elze if (P loc(3)) — true
i
P Curl cfree(ptr):
pifl (p data->set.set resume from < 0) — false

e
p int e & = 0
‘|
else if [ data->3tate.resume from) - true
e
P int temp war 10
‘|
else
e
P int temp var 14

0:

1
L]

‘|

‘|

Problem H-7 (difficulty: 0.7229)

evalu

o

il
¥



P int bHasMcowed = 0;

Pp int rc:
pif ) ( prcPager—>tempFile) —
{ .,
P retorn 0;
'l
Ppif [ P cPager->dbSize==0) - true
i p
P return 0;
‘.
P copyipir);
P rc = pir(pPager—>id);

[nd
(=]
E
o

b if@ (P rc==SQLITE NOTFOUND) — false

S
pc = SQLITE OK;
'

the order they are

A 12
A 23

else if ( pp rc==30LITE OK && bHasMoved] — true

L
b xc = SOLITE READONLY DEMCOVED:
'

Pp return rc;

Problem H-8 (difficulty: 0.7487)

evaluated.

Leotivate

actions



Press the actions of the algorithm in the order they are evaluated. Activate actions

with playp and stop @ buttons.

pif (P Lbindicopyl) — true ASAE
S

P _service |

p return 0:

‘|

P ectual fs type = FSType:

pif (Ppduril}) — false " A 23
Pp retorn FormatlargeFAT3Z (Drivelndex, PartitionOffset, UnitAllocationSize,

FileSystemlakbel [FSType], Lakbel, Flags):
‘e
else if ( p ESType »>= F3 EXT2) - true

Pp return FormetExtFs (Drivelndex, PartiticonOffset, UnitRllocationSize

=

FileSystemlLabel [
'm
else if ( pp use vds)
[ p

Pp return FormetNativeVds (Drivelndex, PartitionOffset, UnitAllocationSize,

SType], Label, Flags):

IS

FileSystemlabel |

‘.

else
e

Pp retorn FormatHative (Drivelndex, PartitionOffset, UnitAllocationSize,

SType], Label, Flags):

FileSystemlakbel [FSType], Lakbel, Flags):

‘|

Problem H-9 (difficulty: 0.7178)

Fress the actions of the algorithm in the order they are evaluated. Activate actions

with playp and stop @ buttons.

P icl = (char*}buffl;

P ic: = (char*)buff2;

p size t pos;
pfor] (Pppocs=0: Pprpocs: Pppost+)l - trme, true ST 12
s
pif (P icl[pocs]!=ip2[pos]) — false, true A A 11
ip
P break:
iy ]
‘|

P retorn pos;

Problem H-10 (difficulty: 0.9433)



